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Gram Formula Mass and Male Conversions
Practice Worksheet |

Learning Target
Convert between the count and mass of a substance.
Determine the molar mass {gram formula mass) of a compound.

Convert the mass of a substance to the number of moles of a substance and moles to mass.

Directions: Determine the gram formula mass for each of the following compounds. You must show all

of your work.
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Part ll: Mole Conversion Practice
For each of the following practice problems you must show all of your work to receive full credit.

1.  How many moles are there in 512 g of SiBr,?
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2. How many grams are there in 10.1 moles of Ca(OH),?
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3. How many moles are there in 0.00199 g of Be,N,?
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4. How many grams are there in 5001 moles of CsF?
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5. How many moles are there in 23 g of Pb(CN),?
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6. How many grams are there in 1.50 moles of CuCl,?
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